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Math 51B Summer 2006 Name:
TEST 2 @ 110 points

You should use a pencil. SHOW AND JUSTIFY YOUR WORK OR YOU WILL NOT GET ANY CREDIT.

1. Decide whether the given ordered pair is a solution of the given equation:
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2. Without graphing or solving the system of equations , find how many solutions each system has? How are the
lines that represent the equations of each system? Justify your answers.
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3. Solve the following system of equations by graphing. Show clearly how you graph the lines. Label the points
used. Highlight the solution of the system on the graph and give its coordinates.
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4. Solve the following sz} m by addition (elimination) 5. Solve the following system by substitution:
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7. Translate the following problems into a system of two equations with two variables.
Define your variables. DO NOT SOLVE.

a) Mark invested $22,000. Part of it was invested at 3% b) The width of a rectangle is half its length. The
annual interest and the rest was invested at 5%. His intere: perimeter of the rectangle is 86 feet.

income for the first year was $760. DO NOT SOLVE.
DO NOT SOLVE. i ‘Z(_f "~ wn{;‘*
"[pf X= a’“”"f?wv"‘ck‘/ o7 3/ /- /&ucfé;
fﬂ.J?/ féz/é -‘p
)’ W"f/ﬂ‘/%ww% of S/ ) VTS

el 24 +o2w = 6
X%)/' 2Z,000

0.03 X faos/ =Jé0o

Solve the following problems. Define your variables.

8. A boat can travel 12 miles downstream in 1.5 hours. It takes the boat 6 hours to return. Find the speed of the boat
in still water and the speed of the current.
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R .
9 A 9?/:3ntifreeze solution is to be mixed with a 75% solution to make 120 L of a 78% solution. How many liters of
the 90% and 75% solutions will be used?
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Extra Credit @ 5 points
A cup of rolled oats provides 310 calories. A cup of rolled wheat flakes provides 290 calories. A new breakfast

cereal combines wheat and oats to provide 302 calories per cup. How much of each grain does 1 cup of the cereal
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